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MeandMath

Worksheet #4

( Apple Basket Word Problem )

Learning goal: Students will be able to solve the story sums implementing

the concept of subtraction.

|Prob|em #1: There were 10 apples in a
'boske1L Mark ate 3 apples. How many
opples are left?

________________________________________

|Prob|em #3: There were 12 apples in a
'bc1s|<e1L Samar ate 2 apples. How many
:opples are left?

P

________________________________________

4

iProbIem #5: There were 10 applesin a

1 basket. Akshara ate 1 apples. How many
1

lapples are left?

o

________________________________________

; Problem #2: There were 14 applesin a
' boske’r Silk ate 4 apples. How many apples
| are left?

________________________________________

i Problem #4: There were 18 apples in a
i basket. Siya ate 5 apples. How many

1

I apples are left?

o - -

________________________________________

4

i Problem #6: There were 12 applesin a

1 basket. Pratiksha ate 4 apples. How many
1

I apples are left?

o - - - -

________________________________________
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oy Worksheet #4 (Answers)

MeandMath

( Apple Basket Word Problem )

Learning goal: Students will be able to solve the story sums implementing

the concept of subtraction.

|Prob|em #1: There were 10 apples in a
'b<Js|<e1L Mark ate 3 apples. How many
:opples are left?

:Soluﬂon'

|Number of apples in the basket =
'Number of apples eaten = 3

Apples left=10-3=7

Answer: There are 7 apples left.

____________________________________

|Prob|em #3: There were 12 apples in a
'bcrs|<e1L Samar ate 2 apples. How many
:opples are left?

iSquﬁon:

iNumber of apples in the basket =
'Number of apples eaten = 2

Apples left=12-2=10

1
1
i
iAnswer: There are 10 apples left.
i
1
1
1
1

____________________________________

iProbIem #5: There were 10 applesin a

1 basket. Akshara ate 1 apples. How many
iopples are left?

ESqu’rion:

iNumber of apples in the basket =

i Number of apples eaten = 1

iApples left=10-1=9

Answer: There are 9 apples left.

____________________________________

; Problem #2: There were 14 applesin a

' basket. Silk ate 4 apples. How many apples

: are left?

: Solution:

; i Number of apples in the basket = 14
' Number of apples eaten = 4
Apples left =14 - 4 =10

Answer: There are 10 apples left.

_____________________________________

i Problem #4: There were 18 apples in a
i basket. Siya ate 5 apples. How many

E apples are left?

iSquTion:

E Number of apples in the basket = 18

i Number of apples eaten = 5

Apples left=18-5=13

Answer: There are 13 apples left.

_____________________________________

i Problem #6: There were 12 applesin a

1 basket. Pratiksha ate 4 apples. How many

i apples are left?

i Solution:

i Number of apples in the basket = 12
i Number of apples eaten = 4
Apples left=12-4=8

Answer: There are 8 apples left.

_____________________________________




